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1· Solve the problem 

2. If all eigenvalues A of the following matrix A are A ~ 0 . 

Questions: 
(a) What is the range of k. (9%) 
(b) Following the part (a) to find the maximum eigenvalue and the minimum eigenvalue 

of A. (8%) 
'li 

(c) Find the eigenvector corresponding to the maximum eigenvalues for positive k. (8%) 

r
4 k OJ 

A= k 3 k 

0 k 2 

fiT 82T 3. Solve the problem -
2 
+-=0, x~O, O~y~l with the boundary conditions ax 8)'2 

T(x,O)=T(x,l)=O and limT(x,y)=O. (25%) 
x--c>oo 

4. Calculate ~ 
2 

dz 
2 

in which C is the circle lz + il = 4. (25%) 
c (z + l)(z- 2i) 


